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— OO 21 NN NIXAT
One who divorces his wife because she is an nY9R

Overview
The mwn is discussing one who divorced his wife because she was an 1798, Our
MooIN examines whether an N°112°X requires a VA or is it MYY >WTp.

- D) NOYA P9INT XD ‘ynwun
It seems from the 71wn here that an N 19°X requires a ©3, (meaning that even though

the husband was not aware that she is an n°179°X, nevertheless she is considered married to him
and in order to marry someone else she requires a ) —

nvoIn asks:
- va\: WP NN V) NIV NIT YNWM (3,2 97 N> WYY NN

And it is astounding; for in the beginning of n2v noon it seems that an N1

does not require a v, since it is a mistaken 21752, moon explains his proof -
= SN 1IN 1NN INSNIY IN INIIY IN NNV 1919 *ane

For the mwn teaches, and all of them who died or were X%, or were found to
be n 19K, there rival wives are permitted to be 02 nn.

Mo0IN answers:
= NN YYN DIVN ANIYINI NHITIN P90 999910 NINT 9D U

And one can say that here in our 71w we are discussing a possible n77°8 and

he is divorcing her because of his concern that she may be an N9, therefore she
requires a v3 for it is not MYV *W17P (with a certainty) —

! The phrase 21 M@K X%, while it may not mean unequivocally with a divorce, it certainly indicates a v3, for
otherwise what is the meaning of X*¥1; she is not married to him, he has no need to send her away. Additionally
why would 777> 'Y maintain 21 X2, if she is not married to the first husband, the children of the second husband
will not be 0>71n at all. Finally the 7awn later states 7n21n3 ny21n XM from the first husband, if no v is required how
can there be a 721n2. Therefore we must conclude that our 73w» maintains that an n>117°X requires a va.

2 Had he known that she was an R, he never would have married her.

? The case there is for instance there were two brothers 123%7 and 1wnw, where 1287 had two wives Y11 and 78Y; one
of them (911) was the daughter of 1Wwnw. In a ‘regular’ case where 231 died childless, normally 1wnw would be
02> his wife; however here since one of s'12187 wives (?11) is s'TWwnaw daughter, and we derive from a 105 that not
only can he not be 02 his daughter (5r17), but he also cannot be 02>°n the other (non-related) wife (7x?), the 77x.
Both wives are exempt from 212’ (and 7%°91). However if the related wife (917) died prior to her husband’s death,
1w can be 02 the other (non-related) wife (7X?), since at the time of s'J2187 death (when the 212° 211 came into
effect) 71 was already dead. The same rule applies if 511 was found to be an n>1?°8, then 1\w»w can be 7X? 02, for
5n1 was never s wife since it is Myv w17, and obviously no vi is required. This contradicts our 7w» which
maintains that an N>17°X requires a va.
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mooIn proves that we are discussing a N>1?°X Po0:
= AINIDY NY PIN NINDIN INT ITIN) D22 NY 1N 9NRD NINYI NOYD MNP Y1H

You should know that we are discussing a n°17°k oo, since in the 82°0 of our
mawn it states, ‘she married another person and she had children from him’, this

proves that she was not a N°17°X °X71, for a n°179°8 871 cannot be healed; she will
always be barren. m50In goes on to prove that a X197 7% PR NONPR ORT -
= INIDY 1D W NNN DDA 3,0y 97 ow) YN NIPY 2a9) ‘yurns 929 239991

Since ' [R''9] (v'') argue in %@ P70 regarding a born eunuch who can be

healed, whether -
— 959 KY 1PNIN INYRY PN NN

He can perform 173°%1n and whether 7251 can be performed on his widowed

wife, however they do not argue regarding an n 179", all agree that there is no

requirement to give her 7%°21, the reason for this is - -
- SPPNYINY V99 TN YN (3,20 97 MNT NP 7992 199N

As we expound in the first P2 of N2> noon, the P10 of Ton "N (which she will

give birth to) to exclude an n°Y9°8 (who cannot bear a child), from the whole w19 of 212’
m¥5m. Therefore an *X71 n°112°Kk does not require a v3, for it is My *W1Tp (since she can never bear
children) however our mwn is discussing a n°1?°R poo, therefore a vi is required.

mooIn responds to an anticipated difficulty:
= 003 AWYN 1999910 PR NN NINTIN NN NIV (3,70 97 ow) WINT NI

And this which 1am1 27 states that our matriarch 792 was an n% R (even
though she later had a child; which seemingly contradicts this which m»oin
maintains that an n°1Y°X cannot bear a child); this is not a question because we do

not mention miracles (77w gave birth through a 01; naturally she was incapable of having
children) -
= (1 97PN 5DV TN YW1 2N 2a) 6])"1)9N‘19

As the X7n3 states regarding 21°X in the beginning of niz>w YK P10 -

mooIn anticipated another difficulty:
= V) NOYAT OND NI ININ DY NYWTPA (3,59 97 mamna) 919N 9N9D9T RN

And regarding this which 17 and 5Xnw argue in 99727 P99 in a case where a

* The w"w" amends this to read 71¥*X "1 (instead of ywim '9).

> The reason no one discusses the status of an n°21»X regarding 7%°on (as they discussed the status of a ©™0) is
because since an N°1°X can not bear a child she is excluded from the 729 of 7¥°2m o12°. The fact that we exclude an
N N7°K because of 720 WK, proves that she can never bear children; otherwise why exclude her.

% There is a dispute there regarding the 77 (the gall bladder) whether the animal is a 7970 if the 77 was perforated.
The X711 asks, ‘but 21X stated that his 771 spilled out to the ground and nevertheless 21°X did not die’; this would
indicate that 7717 72p°1 is not a 719", The X3 answered 0°01 AWYA 1717217 PR,
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person was w7pn a woman with the stipulation that she has made no vows, and
he married her ano (without mentioning his “Xin); 27 maintains that she requires

auwa-
- "t s YA NIV Yy DN PNRT OIVYUN

Because a person does not make his 77%°v2 a promiscuous 78°2 and the %2 was
made V7P owh —

mooIn responds
- %95n1 Y 199N YAN PINNIT 191399 ANV 1N

When do we say nmir n?va 1nva nwiy 07X 1K by other blemishes (like o0171)
where he is willing to forgo his *Xin by the 712°v2, however regarding an n°77x
he is not »m% and is not Pw17p oW Y312 if she is an NNPK —

nooIn offers another distinction:
- 91’\’)1‘1‘,7 WY Y2 NIYT ININD DPNS XY NNPY NINYIN PIUN 1PIMT T

And furthermore by regular 1>21% he is aware that perhaps the sxin will not be
fulfilled (she will have o>172) for it is common for women to have this 01, so he

is aware that his initial w177 may be invalid and therefore he is w7 2w w2 -
- Pyurrp owY DI¥aY PI0N XY NIIY NYT 9NN YaN

However regarding an n°11%°X, which is uncommon it does not enter his mind
to be PwTP WY 4yia -

Mmoo anticipates a further difficulty:
- 12919 15 PR HNDIRNY THNWN MINNN (3,7 ow) NHTI NIAYN P PNT XM

7 The question is just like there we say she is NwTipn since MAt NP°¥2 N°¥2 7WW 27X X (even though initially he
made a °Xin, nevertheless we say that once he was 2¥12 he meant it for P17, regardless of the °Rin), the same
should apply here, that when he was 0115 her he did it w17°p ow» so that even a n°>117°R *X71 should require a v3?! [In
fact own 1172 *"w1 actually states this as he writes, 1RI7p awH 2¥21 MIT N2°Y2 NP2 T QTR PRT VAT 7778 2"AL]
This could also resolve the contradiction mentioned in the beginning of '01n that in nNn2> NJon there was only 017X
and therefore it is NWv *w17p, however here there was 1XW°1 and since M7 N9°Y2 N2 AWW X" she requires a v
See q">w "N,

¥ By other 1 (like 0771) even though initially he would not want to marry her if she has these 7mn, for he
explicitly made a °Xin, nevertheless at the time of 7X>3, he forgoes his *Xin and (even though the original 7w17°p will
not be 911 since she has these 1m7, nevertheless) he is 2912 her now w17 ow5. However the 0w of n°N2X is so great
that even though he never made a °Xin that she is not an n°172°X, nevertheless a regular person will never agree to
marry an n°11?°K and even when he is 713, he would rather that this 77°v2 be a N1 n?°v2 than to be w7pn an N"NPX.
This assumption is so strong that we do not even require a *Xin.

? He made a *Xin, presumably because he was somewhat suspicious that she may have this 0w, therefore X2 nywa
he is concerned perhaps she has this 0¥ and it will be a 11 NX°3, so he is PYWITP QWS ¥

' He made no *Xin and it is the furthest thing from his mind that she may be an n*»x (since it is 2w X9), therefore
he is IWRT PWITR NYT ¥ 9313, and he is not YR WY 932, See ‘Thinking it over’.
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And regarding this which the 7w taught in no23r1 73258 P90 that a nix»» and a

7w and an N9, receive no 72N> payment if divorced or widowed -
=992 NV YAN yPYNT

Which indicates that they require a ©3. This is in contradiction to what m501n maintains
that an n°>11?°K is Myv *w17°p and does not require a vA.

mooIn proves that this is the general inference when it states 72112 72 PX (that a va is required):
= 9995 NN DN NDIT 22 (8, 97 0W) Yaseana 291 99049

For this is what the X313 in =727 ?99 infers regarding the miwn of an® nvId
WA, etc.

mooIn responds:
- V) NOYa NY Pmannnm 7095 S¥1 290 D MY DIVN

This implied inference of X°va fv°a X7 is only regarding a 1w (but not for an

nnx) for perforce you must say that a nix»» does not require a v and neither
does an PNR —

mooIn offers an alternate solution:
= 12)N52 XYY N8N N0 NYNPN NN XY 20T DIVN NON P97 XD 9991902 9193 ON

Or you may also say that the only reason the X773 makes this inference in 275
99727 (that X'V XD R X°P2 RDT X7 72100) is because in the 8w of the mwn it
states, ‘she is not nwTp»’ (which mean no vi is required) and in the 829 it states

differently, 712305 X2 R¥n (but it does not state NWTP» 7K; indicating that there is PP,
and a v is required); however in the mwn in N°1r3 79K where there is no statement of K
nwTpn, only the statement of 721N 172 PX, that is insufficient to infer that X>y2 7w

mMooIN anticipates one more final question:
- 99N NSHPN NNAY VP D PEIIN KD NIVPI YOP (3,80 Mn) 1I2IINT XY

" A 7w is a ‘secondary’ 71y, which is 110K only 112772; for instance a man’s grandmother.

2 The mwn there (2,29) states if a man had Xw"1, without making any stipulations (ano i1013) and it was realized
later that she had ™71 the rule is 72103 X2 Xx¥n. The X773 infers from this that she has no 7212, but she requires a va.
The same inference should be made regarding the n°>1Y2°K in n°1311 739X P15 which nvon cited. See ‘“Thinking it over” #
2.

> A nixmnm refers to a 7avp who was married 13277 through her mother or brothers. The rule is that whenever she
wants she can say that she refuses (niX»n) to be with her husband and she is no longer married to him. Obviously the
phrase 72102 372 PR regarding the nixnn cannot be inferred to mean X°Y2 XX K7, because a NIk does not require a
3, therefore we can equally say regarding an n°112°X that this inference does not apply to her either; it only applies to
a 11w, who indeed requires a 03,

4 There is no 012 n1¥n by an n>n2°X, therefore if he is 02°>» her he will be 02>*» his brother’s wife 71X D1pPR2 RV,
which is a n75 2.
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And regarding the Xn>12 which states that we do not perform 773°%17 by a Jup
7wy and also no 212°, the reason given why there is no 0127, is that the m1upP may

turn out to be an NN -
=YY NI MYV YWYITH 17 291 NN NNDIN INT TY) N9 DN 19299NX XD

But why do we not say that this 710 should be 23%°n% in any case. For if she is
an n9K. her PY17P to the deceased brother was nipw “w17p so she is permitted

to marry the second brother (she is not Ynx nwx)?! This would seem to disprove n1ooIN
that by an 12X it is Myw "W17p!

mooIn responds:
$(3,00 97 PyTIIE) 990 )2 16‘.7‘12::1 YN NIN NN N0y NYAPT2 DNNT DN 12929 9N

The n''9 explains that there the case is where the deceased brother accepted to
marry this mvp even if she should turn out to be an N°112°X, and we use this answer
also in 9910 32 pPB.

Summary
MooIN maintains that an N°117°K does not require a v even if there was nx2.

Thinking it over

1. mdoIn offers two explanations why regarding an n°112°R we do not say 1w X'"R
mir N2 1 va.'’ Is there any advantage of one answer over the other, and is there
any 11" Xpdl between the two answers?

2. mooIn asks a question from N> 7INPKR PO where it states regarding an N°PN9°KR
that 721> % 7X; inferring that they require a w3, in contradiction to nM»OIN
opinion.'®> Why does not mso1n answer here (as he answered before) that the 7awn
in n°33 7ImYK s referring to a PR poo?!"

15 Therefore she is 11X nwx, and if she turns out to be an N°11°X he will be M¥» 2PN ROV PIR DWR 2270,

'® The xm3 cited a m3wn which states that if someone married a girl three years or older she is considered an WX nwx
and who ever lives with her is 7in* 21, The X773 asked how can we kill him since she may be an n°>117°X. The X713
concluded that it is in a case where 1%V 792p.

' See footnote # 8 & 10.

' See footnote # 12.

¥ See 7w o"an ;0" X "wIAR.
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